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Q.1. If A=1 and OAR= 34, then
ROAR =?
I A=1TOAR =34, a1

ROAR =? VG e




Q.2.IfA=3,N=42 and Z = 78, then
NET = ?
I A=3,N=423xZ=78, aIrNET =

? :
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(A)1400
(B)250
(C)117
(D)39




Q.3. If 'EAR' is equal to 15, what will be the value
of 'NOSE’ ?
< 'EAR' 15 % @ 8, AT 'NOSE' T /T 747 %




Q4.IfA=2, M =26, Z=52 then what would be the
value of BET = ?
I A =2, M=26,Z=52%a‘rBET='ch'rm7r
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Q.5. If BEAD is written as 8514 and LATE is
written as 3165. Then how will TABLE be written?
Ife BEAD &t 8514 3T LATE &t 3165 fer@r ST av
TABLE I %9 for@T STar?

(A)61835
(B)86145
(C)61853
(D)61584




Q.6. If BACK is coded as 11312 and CAKE is
coded as 51113, then how will MADE be coded?
i< BACK #t 11312 F €9 § SHifeq fhar 14T g i<
CAKE =Y 51113 & &9 | Fifed far AT §, a
MADE &7 ¥ sifed f&ar Siram?

(A)51413
(B)54113
(C)31145
(D)13145
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Q.7. If BARBER is coded as 116 and GLINT is
coded as 73, then how will LIZARD be coded?
gf< BARBER & 116 & &l a1 7137 g 3T GLINT
&I 73 q Fre A7 74T g, AT LIZARD Ff 9 Hie

T ST ?




Q.8. If LIFE is written as 76, how will LIVE
be written?/ If< LIFE & 76 fer@t stre ar LIVE
¥ TorET STTEeT?




Q9.IfA=1,B=3,C =5 and similarly Z =
51, then find the code for PULSE.
gfcA=1,B=3, C =5 X ™ TR Z = 51
g, @r PULSE #F foiT =1e ATq #ifsral

(A)314123379
(B)323412379
(C)342231279




Q.10. If GOT is coded as 126 then what
will be the code for CARD?
i< GOT &I 126 % €T H Hifed (a1 AT §

dr CARD # f1q =i T gH?

(A)104
(B)102
(C)68

(D)168
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Q.11. If ‘cook’ is called ‘butler’, ‘butler’ is called
‘manager’, ‘manager’ is called ‘teacher’, ‘teacher’
is called ‘clerk’ and ‘clerk’ is called ‘principal’,
who will teach in a class?
i< ‘T F 'TSAL Fgl AT §, 'TeAL Fl AT Hgl
GrrclT%' ﬁﬁﬁ'{'ﬂ»’fﬂ&ﬁ' w% ﬂ&ﬁﬁ, S
‘ ?

b e (A) Cook/z

(B) Butler/ '9ceX

(C) Manager/ "#4sT

(D) Clerk/ '=1="
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Q.12. If ‘diamond’ is called ‘gold’, ‘gold’ is called
‘silver’, ‘silver’ is called ‘ruby’ and ‘ruby’ is called
‘emerald’, which is the cheapest jewel?

i< "G FT AT FHgl STTdT g, AT i '=Aial” gl
SITAT &, "Il 0 |0 gl SITaT g < TR Fl
'THT' T SATAT g, AT TI9 qEdqT T8A7T

(A)

Dimond/giX

(B)




Q13. If ‘eye’ is called ‘hand’ , ‘hand’ is called ‘mouth’, ‘mouth’
IS called ‘ear’, ‘ear’ is called ‘nose’ and ‘nose’ is called
‘tongue’, with which of the following would a person hear?
i< '@’ FT G FHgl ST 8, "B il "Hg' Fgl S1av 8, "Hg' Hr
'FT gl JATAT &, "I I TR gl SATAT g SN ATH hl 'SH FgT
SIS ﬁﬁﬁ%ﬁﬁﬁﬁ%ﬁ%ﬁﬁ%aﬁéwﬁﬁgﬁﬂm

(A) Eye/at@
(B) Mouth/qg
(C) Nose/aT®




Q.14. If ‘white' is called 'blue’, 'blue’ is called ‘red’, 'red’ is called
‘vellow' ‘yellow' is called green 'green' is called 'black’, 'black’ is
called ‘violet’ and 'violet' is called orange’, what would be the
colour of human blood?

i< THS FI AT gl ATAT g, HIet AT gl SAav g, A0 Hl
"TAT FZT STAT g, "TAT FT G gl SATaT &, "FL I AT FHgl ST
g, "HTAT FT "SI gl JATAT g SN "SI Sl qATS gl SAav g, {1

TTh T T AT g2 (a) Red/=Tet
( N \\ (b) Green/ g1
e (c) Yellow/dT=T
S (d) Violet/ "sRT*
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Q15. If 'oranges’ are 'apples’, 'bananas’ are ‘apricots’, ‘apples
are 'chillies’, 'apricots' are orange and ‘chillies’ are 'bananas’,
then which of the following are green in colour?

= et B, AT MATiET § & s Traug?

(a) Apricots/gaTT
(b) Apples/ A=
(c) Chillies/f=
(d) Bananas/&t
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Q.16 In a certain code language 'SAPLING' is
written as 'UKZNMRI'. How will 'GLACIER' be
written in that code language?

T AT gz |reT #§ 'SAPLING' T 'UKZNMRI'
STAT gl S He 91T H 'GLACIER' #t 9

(A)IZOEVRT
(B)ZOIEVRT
(C)INCEKGT
(D)ZOEIRVT
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Q.17. If in a certain code language, ‘FRIEND’ is written as

‘ETKDPF’, then how will ‘REVEAL'’ be coded in that language ?
Ffe fareft fATSa $ woT % 'FRIEND' ferat ' ETKDPF' & €9 |, ar
'REVEAL' 1 8 Fiedg (a1 ST 39 ATHT H?

(A)LAEVER
(B)VERQLM
(C)QXGCDN
(D)YQGXDCN
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Q.18. If in a certain code language ADVENTURE is written as
BFYISZBZN then what will be code for COUNTRY in the

same language?
7 T A e wrar & ADVENTURE %t BFYISZBZN fer@at

STAT g ar ST A/TST § COUNTRY & o 39T e gR1T?

(A)DPVOUSZ
(B)DQXRYXF
(C)EQWPVTA
(D)BNTMSQX
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Q. 19 If CARING is coded as EDVGKC and SHARES
is coded as UKEPBO how will CASKET be coded as
in the same code?

i< CARING st EDVGKC & €9 ¥ Sifed far 1T g
AT SHARES &t UKEPBO % &9 ¥ &ifed v
ST i€ W CASKET &l &9 Fifeq fhar

(A)EDWIAP
(B)EDWPAI
(C)EDWIBP
(D)EDWIBQ
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Q.20. In a certain code language READER is
written as REDAER then in the same code
language how will PRIMER be written?

T Afa $ie 91T § READER st REDAER fer@rT
STAT g 1 ST He ATHT § PRIMER &t F&

SITTATT?

(A)REMIRP
(B)PRMIER
(C)REPRIM
(D)PRMIRP
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Q.21 In a code language, 'he is waiting' is written
as '269', 'she is ready’ is written as '915', and 'he
and she' is written as '271'. What will be the code
for the word 'and' in this language?

T %< WTHT |, 'he is waiting' 1 '269', 'she is ready’
&1 '915', 3 'he and she' #T '271" foraT

HTYT | 'and' Ts< FT FlS 9T T2




Q.22 In a code language, 'we are going' is coded as 'ca da ga', you
are happy' is coded as ‘sa ga ta’, 'she is going' is coded as 'ma ra ca’,
and 'you were' is coded as 'ta ka'. What is the code for the word 'we

are happy' in that language?

T# % MT9T H, 'we are getting' % 'ca da ga ' Tz 31 4T &', you
are Happy' I 'sa ga ta', & €9 ¥ ficdg {4971 4T ¢ 'she is going ' ¥
'ma ra ca' % €9 # Hifed fHJT =T §, 3 'you were 'Fi'taka ' F €T H
Fifed {7 9T 2. 'we are Happy' 9T FT FIS T g7

(A)ka da sa
(B)ta da sa
(C)ka da ga
(D) sa da ga
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Q.23 In a code language, if 'get up now' is written as '‘pax max
rax’, 'he will get' is written as 'max dax zax', and 'will it stop' is
written as 'zax kax lax', then for which word is the code 'dax’
used in this language?

T Fic STST |, I ' 'get up now ' 1 ' 'pax max rax ', ' 'he will get’
%I ' 'max dax zax ', 3f¥ ' 'will it stop' &7 ' 'zax kax lax ' feraT STaT €,
v S AT | 'dax’ Fre 9 e F forw s 6 sirar g2

~_ (A)get

( =i \]/ (B)he

=2 (C)will
(D)it
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Q.24 In a certain code language, if 265 is written as
PNH, 187 is written as OXB, and 248 is written as
NUB, then which of the following letters represents
the number 47?

u Afsra e wraT A, afe 265 F PNH %"@rfrf%nm
STaT g, 187a?rOXB%"6crfr1%naTw§
NUB % &9 ¥ ferar sirar g,ar Matafea &
AT G&IAT 4 Y IATAT 5?2




Q.25 In a code language, if 'you are there' is written as 'ter der jer', 'we
stay here' is written as 'yer mer nee, 'we are late' is written as 'ser nee
der', and 'l stay there' is written as 'yer fer jer', then how would 'you stay
late’ be written in this language?

T+ % AT9T |, TfQ ' 'you are there ' &1 ' 'ter der jer ' & 9 # fe@T S1aT §,
'we stay here ' %1 ' 'yer mer nee ' & 9 ¥ for@r STTar 8, 'we are late ' v’
'ser nee der ' % 7 ¥ for@T STaT §, X' 'l stay there ' #1 ' 'yer fer jer’
forET STTaT € a7 <9 |T9T § ' 'you stay late’ & fer@t Sra?

(A)ter yer mer

( o \> (B)ter yer ser
= (C)ter mer ser
(D)der yer ser
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